EARAROBEEIERT — 2 N— IBISH —F

201657H24H0 (B) 243 58H

R REXA

REEFI

[($57E] Fikb

EZS

=

‘ [REBE] — | Z (%) 18000 B

[A~&£] 17 5,000,000  ~ 23 :2,000,000H 37 :1,300,000

/47 1750,000 F 5 7& 500,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
5 L3 o2 | IHES 1:51.0 9-9-6-5 |36.2| 81.9 | 5 456 |t EEBL (i)
1011 777—=-7L37 54.0 (=) (+6) TEH;JZ
R:T7oT5A4NIE B b3Syl y R pl Rt
SIS T # o2 | ENEAS 1:51.0 4-5-3-3 | 36.6| 81.9 | 1 458 | =AETE ()
217|12| 1FNTTT 1R 54.0 0NF) o | B ¥5TLuEs5T 5707
R:aArFafy b BiRIRKY-—X EvdlLy RT7—L
. 4 2 | HEEKXH 1:51.3 1-1-1-1 | 37.0| 79.1 | 3 426 | KEEL (EH)
3N 2 TATINY T 5.0 (1 3/4) (+4) | B) EvILyRT7—4
LTANNTTFHF— B:vA 391027 EvilLyRT7—L
9 4 2 | HPBE 1:51.3 2-2-2-2 | 37.0| 79.1 | 8 478 | RIS ()
4Kl 5 INJIN R—A 54.0 (7€) 2) 2l
R4 7 bT—EY B:TIAMYETHvy b HRSHE IXTF177—L4
e 4t 2 | MM 1:51.4 7-5-5-5 [ 36.9| 78.1 | 2 448 | BIUEER (EH)
518l14| V1T>7Z4 % 54.0 (7€) ) | W v
L2740 =IV R B:Y~Y—I8=71 AXETa—T7—~4A
= ST = 4 o2 | BEEX 1:51.8 13-13-13-11] 36.3 | 74.3 | 13 | 492 |/v&liE (E#)
6 (2|13 EYIVINLT T £82.0 2 1/2) (o) | MKt
LZZXNT 1=y R B:hHYINY— Hes
-2 4 o2 | HHE—H 1:52.0 11-11-10-7 | 37.0 | 72.4 | 1 438 | BEHLE (EH)
715l =>¥/YEb 54.0 ) (-g) | EWLEAT
) —=FHII9r B:7Aan EEicke]
3 N 4t 2 | RLRKA :52.0 11-11-10-7 | 37.0 | 72.4 | 9 44 | AREE ()
8|1]1|RX—JNE= 54.0 P oy | B) mO#s
R:THINEry b B TSARY YR HOM%S
o A5 o2 | AEEN 1:52.1 9-9-10-11 [ 37.1| 71.6 | 7 482 | EHEE (EH)
9 4| 7RO MOCT 540 1/2) © |7XO¥ITLyKsS5T
RTROFL T L L B NTEA X F v — 5% EE
N N o RislE :52. -5-8- . . HEER (Eh)
N - NECEE P o2 o 1(35/24)2 4-5-8-10 |37.3| 70.7 | 6 42;2 maba
LixAoavHLyy B:Yavxvy /75y ATHE
. ; 7 B2 | AHEGH 1:52.5 3-3-3-3 [38.1| 68.5 | 4 472 | BREE ()
1118]15| 7>F 771> A51.0 (1 3/4) (+4) | TRBeA
RV TFTIAL R BiLF Uy F A 7S
# o2 | BEET 1:52.7  |15-15-14-13| 36.8 | 65.6 | 15 | 432 |fREEM— (X#)
12|59 |N—F/I—=2 54.0 (1 1/4) (o) | B IrT77—n
VN R AT S S S0 = DU AVE 3 RE FH
=5 4 2 | SHEZ 1:53.5 7-8-6-7 | 38.7| 60.2 | 10 | 494 |/IN¥EfREL (KH)
13 717 v7 54.0 (5) (-4) $§;1‘§2
=R =R L DR 8 HE Em
T o2 | FHEAR 1:53.5 14-13-14-15| 37.7 | 59.1 | 14 | 452 |iRERE (KiH)
7 2 RSP 51.0 (7%%) (-a) | BT
L:dr—3U7> B:I-Y 75071 (e
> S 4 o2 | AIEDHR 1:53.7 4-3-8-13 | 38.8| 58.6 | 12 166 | SIEEE (EH)
15 3| avrxE/ A51.0 (1 1/2) 42) |MEEE—
L:7vis—-L B:ovvyx Nipse]
@ 21 L
£ 48.3-36.7
NA> 24 L | 12.8-11.3-12.6-13.6-12.4-11.6-12.0-12.1-12.6
® 1—F—@EBIERL
1T=7r= (¥2,5)15(3,10,12) (7,14) (4,11) (1,8)13,6-9
23—7F— | 2,5(3,15)(10,12,14)7(4,11) (1,8) (6,13)-9
Jo=5r= (x2,5) (15,12)14(7,11) (3,10) (4,1,8)-13-(6,9)
40—F— (¥2,5) (15,12) (11,14)-(7,1,8)10(4,13)-(3,9)6
[ N5
= 1 930M 714K 11-12 460 e E 6-7 760M JEE 2-11-12 2,020/
# B 1 220M 2-11 700M B = 11-12 1,220 JEH 11-12-2 15,280M
12 1509 2-12 320M B H 11-12 3,010M
2 160/

ABICOVWTRDTEEERROODE. TR LIV,




